MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLLAGLER BUILDING

ODE COMPLIANCE OFFICE BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
. (305) 375-2901 FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA) www.miamidade.goy
Eastern Metal Supply, Inc.
4268 West Roads Drive

West Palm Beach, Florida 33407

ScorE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHIJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.050” Perforated Bertha Aluminum Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 06-290, titled *“ 0.050” Perforated Bertha Aluminum Storm Panel”,
sheets 1 through 15 of 15 and sheet 1A, prepared by Tilteco, Inc., dated 11/20/2006, last revision #2 dated August
03, 2007, signed and sealed by Walter A. Tillit Jr., P.E., bearing the Miami-Dade County Product Control Revision
stamp with the Notice of Acceptance number and expiration date by Miami-Dade County Product Control Division.
MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.
INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.
This NOA revises & renews NOA # 01-1107.01 and consists of this page 1, evidence submitted pages E-1 & E-2
as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E., M.S.
/7/ NOA No. 07-0111.02
(/6; /4 M\« Expiration Date: 03/21/2012
’ Approval Date: 08/30/2007
08/'30/2,007 Page 1




Eastern Metal Supply, Inc.

i

i

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #01-1107.01

DRAWINGS

1. Drawing No. 01-251, titled “ 0.050” Perforated Bertha Aluminum Storm Panel”,
sheets 1 through 15 of 15, prepared by Tilteco, Inc., dated August 27, 2001, last
revision #1 dated February 21, 2002, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS
1. Test reports on 1) Uniform Static Air Pressure Test, per SFBC PA 202-94
2) Large Missile Impact Test per SFBC, PA 201-94
3) Cyclic Wind Pressure Loading per SFBC, PA 203-94
along with marked-up drawings and installation diagram of 0.050” Perforated
Aluminum Storm Panels Shutter, prepared by ATL of South Florida, Test Report
No. 0221.01-01, dated 05/02/01, signed and sealed by Henry Hattem, P.E.
2. Addendum to ATL of South Florida, Test Report No. 0221.01-01, dated 10/12/01,
signed and sealed by Henry Hattem, P.E.
3. Addendum to ATL of South Florida, Test Report No. 0221.01-01, dated 02/04/02,
signed and sealed by Henry Hattem, P.L.

CALCULATIONS
1. Anchor Analysis, dated 09/10/01, pages 1 through 53, prepared by Tilteco, Inc.,
signed and sealed by Walter A. Tillit Jr., P.E.

MATERIAL CERTIFICATIONS

1 Mill Certified Inspection Report of coils, dated 04/24/01, for Aluminum Alloy
3004 -H34 by NA Nichols Aluminum with chemical composition and physical
properties.

2. Certified Tensile Test Report by QC Metallurgical, Inc., Report No. 1CM-384,
dated 03/26/01, signed and sealed by frank Grate, P.E.

NEW EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. 06-290, titled “ 0.050” Perforated Bertha Aluminum Storm Panel”,
sheets 1 through 15 of 15 and sheet 1A, prepared by Tilteco, Inc., dated 11/20/2006,
last revision #2 dated August 03, 2007, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS
1. None.

" Heliy A. Makar, P.E., M.S.
Product Control Examiner

NOA No. 07-0111.02

Expiration Date: 03/21/2012
Approval Date: 08/30/2007



Eastern Metal Supply, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS
1. Anchor Analysis, dated 12/08/2006, pages 1 through 120 OF 120, prepared by
Tilteco, Inc., signed and sealed by Walter A. Tillit Jr., P.E.
2. Revised anchor Analysis, dated 08/07/2007, 4 pages, prepared by Tilteco, Inc.,
signed and sealed by Walter A. Tillit Jr., P.E.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1.  None.

' Hefimy A. Makar, P.E., M.S.
Product Control Examiner

NOA No. 07-0111.02

Expiration Date: 03/21/2012
Approval Date: 08/30/2007




GENERAL NOTES:

1. STORM PANEL SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR
COMPLIANCE IN ACCORDANCE WITH THE 2004 EDITION OF THE FLORIDA BUILDING CODE WITH THE 2005,
2006 & 2007 SUPPLEMENTS.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE. IN
ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED WERE NOT OVER
STRESSED, A 33% INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS.
A DURATION FACTOR CD=1.60 WAS USED FOR VERIFICATION OF FASTENERS IN WOOD.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE
WITH SECTION 1609.1.4 OF THE ABOVE MENTIONED CODE AS PER ATL REPORTS # 1022.01-96 AND #
0221.01~01, AS PROTOCOLS TAS—-201, TAS-202 AND TAS-203.

2. ALL ALUMINUM SHEET METAL PANELS SHALL HAVE 5052-H32 OR 3004—H34 ALLOY.

3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063-T6 ALLOY & TEMPER UNLESS
OTHERWISE NOTED.

4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES OR CORROSION RESISTANT COATED
CARBON STEEL AS PER DIN 50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH,

5. BOLTS TO BE ASTM A—307 GALVANIZED STEEL OR AIS! 304 SERIES STAINLESS STEEL, WITH 35 ksi
MINIMUM YIELD STRENGTH,

6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TO EXISTING POURED CONCRETE:
— 1/4” 8 TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX, (REGULAR OR 410 S.S.)
USE MIN. fo = 3192 psi
1/4" 8 CRETE-FLEX SS4 ANCHORS AS MANUFACTURED BY ELCO TEXTRON.
USE MIN. fe = 3350 psi.
1/4" 8 CF TAP~GRIP ANCHORS (BERTHA STUD—CON), AS MANUFACTURED BY TRU—-FAST
CORPORATION.
USE MIN. fc = 3600 psl.
1/4" @ ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC.

USE MIN, f'c = 2000 psl.
1/4" 8 x 7/8" CALK~IN ANCHORS OR ELCO mole & female "PANELMATE” OR ELCO male
& fernale "PANELMATE PLUS® AS MANUFACTURED BY POWER FASTENERS, INC. AND ELCO
TEXTRON, RESPECTIVELY. USE MIN. f'e¢ = 2000 psi. & 3350 psi RESPECTIVELY.

!

NOTES:

A1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS OR CRETE~FLEX S54

IS 1 3/4% FOR ZAMAC NAILIN ANCHORS IS | 3/8% FOR ELCO PANELMATE AND ELCO MALE "PANELMATE
PLUS" ANCHORS IS 2%, AND FOR CF TAP-GRIP ANCHORS IS 1 1/4"

A2) 7/8" CALK-IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4"¢~20 SCREWS USED SHALL BE 1 1/2" LONG
MINIMUM SHOULD STUCCO EXIST, AND 17 MINIMUM FOR WALLS WITH NO STUCCO.

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE
EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND
SUCH PANELS, ANCHORAGE SHALL BE AS INDICATED ON NOTES A.1) & A.2) ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL: ASTM C-890,

~ 1/4" @ TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX. (REGULAR OR 410 S.5.)
1/4" 8 CRETE-FLEX 5S4 ANCHORS AS MANUFACTURED BY ELCO TEXTRON.
1/4" 8 CF TAP-GRIP ANCHORS (BERTHA STUD—CON), AS MANUFACTURED BY TRU~FAST
CORPORATION.
1/4" 8 ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC.
1/4" 8 x 7/8" CALK~IN ANCHORS OR ELCO mole & female "PANELMATE® OR ELCO mols
& fernale "PANELMATE PLUS" AS MANUFACTURED BY POWER FASTENERS, INC. AND ELCO
TEXTRON, RESPECTIVELY,

[

e

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON, ELCO PANELMATE AND ELCO MALE "PANELMATE PLUS" CF

TAP—GRIP AND CRETE—FLEX SS54 ANCHORS INTO CONCRETE BLOCK UNIT SHALL BE 1 1/4": 1 3/8" FOR
ZAMAC NAILIN ANCHORS.

B.2) 7/8" CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4°8~20 SCREWS USED SHALL BE 1 1/2" LONG
MINIMUM SHOULD STUCCO EXIST, AND 1° MINIMUM FOR WALLS WITH NO STUCCO.

B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE

SHALL BE AS INDICATED ON NOTES IN B.1) AND B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF
THE ANCHOR'S MANUFACTURER.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON
SECTIONS 1 THRU 15 (SHEET 3 & 7 OF 15) EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE
STRUCTURE WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE, THIS SHUTTER SHALL
ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.

9. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN
CONTINUOUS CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION.

10. STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY
BUILDING AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

11. (a) THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) PREPARED BY THIS ENGINEER IS GENERIC AND
DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT; ie. WHERE THE SITE CONDITIONS
DEVIATE FROM THE P.A.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE
SAFETY OF THIS PRODUCT BASED ON THIS P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE
CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S
RESPONSIBILITY.

(c) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT
WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE
RESPONSIBLE FOR THE PROPER USE OF THE P.A.D. ENGINEER OF RECORD, ACTING AS A DELEGATED
ENGINEER TO THE P.A.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR
REVIEW.

(s) THIS P.AD. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL
ENGINEER OF RECORD THAT PREPARED IT.

12, SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON A READILY AND VISIBLE LOCATION AT PANEL.
ONE LABEL SHALL BE PLACED FOR EVERY PANEL.

LABEL SHALL READ AS FOLLOWS:

EASTERN METAL SUPPLY, INC.

WEST PALM BEACH, FL.

MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED.

PRODUCT REVISED
os complying with the Flarida

i

F.B.C.(HV.H.Z.)/MIAMI~DADE COUNTY

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL|  DRAWN BY
/ \\ EASTERN METAL SUPPLY, INC rq20/08
< I I 4268 WESTROADS DRIVE

s e ILIEC O inc. WEST PALM BEACH, L 33407
g R e RN TILLIT TESTING & ENGINEERING COMPANY PH; (561)-533-6061 FAX: (561)-588-4780 06-290
T e T 6355 N.W. J8th, St.j Ste. 305, VIRGINA GARDENS, Fl, 31168 DRAWING M
At & o 2007 T Phone : (30 572'3527%06(%9 (Fas)azi-131 REV, Mo DESCRIFTION oATE_|_PEv. e DESCRIFTION OATE A °

WALTER A. TILLIT Jr. P._E. ! o0 63-143 __ Y1/20/08 3 - “ 1 sweer 1 oF 15
FLORIDA Lic. # 44187 2 GENERAL Joasas/07 4 - -~




1.500

15.118" (TOTAL WIDTH) 9.119" (TOTAL WIDTH)
12.000" (EFFECTIVE WIDTH) 6.000"
n .500" ” " EFFECTIVE WIDTH
' 4.473 {:500_, 4.473 11500 ( )
1.500" ' 4.473" { 11500"
AS APPLICABLE AS APPLICABLE
(Typ.) L (Typ.) RN
R 5 3
N 0 N
_ T Q T~
Q
~| 2.125" +——3.875"— 2.125" |- ] f ~| 2.125" |- § 1

FULL PANEL

I-;f g{"—’————CONCRETE ANCHORS (SEE SCHEDULE)

1 Min.

HALF PANEL

(1).PERFORATED STORM PANEL

SCALE : 1/2" = 1"

360" — ~—.360"

o

o

r"!_'—

TYP.

2007

’-1/4 " Mox. GAP

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

CONCRETE ANCHORS (SEE SCHEDULE)

PERFORATED STORM PANEL
IYPICAL ELEVATION

N T S

1/4" Mox. G‘AP—’

PRODUCT REVISED

85 complying with the Florida
Buiding Code

Aceepione Mo 07-0]]]- 02
Expization Date 6 ZolZ

ST duet Contenl
Bivision

F.B.C.(H.V.H.Z.)/MIAMI~DADE COUNTY

ﬁ\/\ﬁ/\v/ﬁ\/\/m\

SECTION A=A

N. T. 5.

/ TILIECO e \

TILLIT TESTING & ENGINEERING COMPANY
8355 N.W. 36th, St. VIRGINI GARDENS, F). 33186]

., Ste. 305,
Phone : (105)871<1530 . Fax : (308)871-1531

EB-0006719
WALTER A. TILLIT Jr. P. E,

FLORIDA Lic. # 44167
R

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL DRAM’ BY
EASTERN METAL SUPPLY, INC 11/20/06
4268 WESTROADS DRIVE DATE
WEST PALM BEACH, FL 33407
PH: (561)-533~6061 FAX: (561)~588~4780 06—290
REV, No DESCRIPTION Bate | Rev. Mo PESCRIFTION DATE DRAWING No
L e - ~ — SHEET 14 OF 15




3.750"
3.500"

.875':I

1.200"

S
2.470" S
R.250"
{ =
\_ 125" + ® %
~ €K
T T & O e
] N 3 T
- 075" 2 38 _1__':
e, | 1S o
o
\FULL R
2.250"
2.591"

@ _"U" HEADER

- SCALE + 3/8" = 1*

—-”——.093"

SEE
DETAIL 1

[-.125"—

e 3.000" Max. 2.470" |
p—— 2.470"
) S b AN
™ b :
- S Y 8 8
| R125 R.250" e [ K R.250"
X TS T
N\_g 125" + © S __IL ' ' %
—t— l,\' a K) N 725 ’ R'200" - ‘I\ &
8 X g ~ R.125 Q3 a%
- 075" - R |- 075" T T8 8 @
Tvp. S o 0757 =H | S ™
. N
. FuLL R.
2250 - 2.250"
2.591
2.591"
@ _“h” HEADER
SOALE ; 378" = 1 @ 3* Max., "U” BUILD QUT
SCALE ; 3/8" = 1"
374"
188"
=° l_. 2
N s 8
T8 d
I % @ ALTERNATE J N
0957 2 l LEG LOCAM—N\' ‘{é ‘
1 = -

@ REVERSED "F* ANGLE TRACK

SCALE ; 3/8" = 1"

el

3/16

ALUMINUM (3) 5/8%¢ HOLES
PATE N\ ar 0P LINE

]

© _“E"_IRACK ANGLE

R.125 "~/L—~ 2. 000"——4 T—L

SCALE : 3/8" = 1”

=

&

(2) 5/16" HOLES
AT BOTTOM LINE
FOR 1/4"8-20x1"
S.5. MACHINE
SCREW TAPCONS

o,
A4

1

1

7"
MIN.

I
l"—— 2.000 "——J

k- 05”

6063~T5 Alum, ALLOY

SCALE : /8" = 1*

12"

14"

"

f

@ 3/16"x7"x14" LONG WALL PLAIE

SCALE: 3/18" = 1*

_ }-'_;5 ;/4"*_| 374" MIN,

COMPONENTS

ol

375" o

.063"J

|

| Flase-
I—VARIES

1/4"2 S.S. STUD

@ STUDDED ANGLE

LY
&
3
~
—_ 4
.1875"

RIVETED TO ANGLE
@ SPACINGS SHOWN
ON SECTIONS.

&) 3” ANGLE BUILD OUT BRACKET

SCALE : 3/8" = )"

.750"

091"
1/4" S.5. STUD e Tl
RIVETED TO ANGLE
@ 12" oc. '
[ ALTERNATE

. b LEG LOCATION
2 —4
- SEE iy

DETAIL 1 8

Jasrl
.632*

ANGLE WITH STUR

SCALE: 1/2% = 1"

875 »

DETAIL 1: stup w/ wing nUT

2,344
- /_ N
b
N L |
S = I
< 0= i
| N
9
| /1 '

3105-H154 Alum. ALLOY
SCALE ¢ 3/4* = 1"

e T
< N P »;.——f{;‘_:_ﬁ:/\w/\\

T AUG 9 3 2007

® .7E”_IRACK

SCALE : 3/8" = 1"

88"
1.25" Max.*-] l'

.1

500" Min.
J_
% - ,090"
T - »

.E. DE ! QK

SCALE + 3/8" = 1"

RIVETED 70 ANGLE

.750" 1/4" @ S. S, STUD
i?S"I‘/l & @ 12" 0cC

8|
[ §
SEE N i
DETAIL 1 .&_ I Q
s *
!
5.000"
(Max.)
» o »

SCALE:

38" = 1"

PRODUCT REVISED

as complying with the Florida
Buldiag Code

Aceepinnee No07-0 ))/.0 7
Expigation Dats 0372 (72 0/2.

PMismi Dade
Division

F.B.C.(HV.H.Z.)/MIAMI-DADE COUNTY

/ TILIEC O e

TILLIT TESTING & ENGINEERING COMPANY
8355 N.W. Jath, St Ste. JOS, VIRGINIA GARDENS, Fl. 33166

Phone : (305)871-1530 . Fox : (305)871-1531
EB-0006718

WALTER A. TILLIT Jr. P. E.

FLORIDA Lic. # 44167
——

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL|  DRAWN BY
EASTERN METAL SUPPLY, INC 11/20/06
4268 WESTROADS DRIVE Dare
WEST PALM BEACH, FL 33407
PH: (561)~533~6061 FAX: (561)-588—-4780 06-290
RV, o DESCRIPTION ATE | RV, Ne DESCRIPTION DATE DRAWING Ne
; OLD D3«143 1/20/09 : : : SHEET 2 OF 15




CONCRETE ANCHORS
(SEE SCHEDULE) o

N B Q \
o Q%
‘3\} §
'.
Q
POURED
CONCRETE |
REQUIRED
< Cont.

A
N

SEE SCREDULE FOR
Min. SEFARATION
TO GLASS

|
%
PDURED—/

CONCRETE
OR CONCRETE |
BLOCK WALL '
REQUIRED

___E_

_T—"‘—""——'—’_"—“F—“
8

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

CONCRETE ANCHORS/ ﬂ

(SEE SCHEDULE)

SECTION @ ANCHOR

G Cont.

POURED/J
o CONCRETE
OR CONCRETE

W  BlOCK WALL
REQUIRED

—®

7/8"%3/32"
 WING NUT ©
EVERY STUD
@ 12" o.C.

—Mox. PANEL LENGTH (SEE SCHEDULE)—

SECTION @_STUD

WALL MOUNTING INSTALLATION

SECTION 1

SCALE ; 3/8" = 1"

NOTE : DETAIL OF SECTION ® STUD VALID ALSO FOR
WALL MOUNTING INSTALLATION — SECTION 2 (TOP)

CONCRETE ANCHORS

9 Cont.

(SEE SCHEDULE)
_;——\

E D

POURED
CONCRETE

REQUIRED
N

SEE SCHEDULE FOR I__
T Min. SEPARATION
TO GLASS

| 1
.

1/4"0—-20x3/4"
BOLTS W/
7/8°%3/32"

WING NUT
@ 12" 0.

|
7z 2
POURE

CONCRETE

OR CONCR[:TE
BLOCK WALL '
REQUIRED

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

CONCRETE_ANCHORS -

(SEE SCHEDULE)

SECTION

E D. = EDGE DISTANCE
(SEE _SCHEDULE ON
SHEETS 10 & 11 OF 15)

SCALE : 3/8" = 1"

NOTE FOR COMBINATION OF SECTIONS:
WALL MOUNTING SECTIONS CAN BE

COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

ng,;::zéjt}m\\
AUGTT3 2007

CONCRETE ANCHORS

/'@ Cont.

(SEE SCHEDULE) 7
_NE
— . d .J 1%
3 N
POURED "
CONCRETE
REQUIRED ‘\

SEE SCHEDULE FOR
Min, SEPARATION —
TO GLASS

.250"
Max.

soLTs W/ |
| 7/6%3/32"
WING NUT
o777 e 12 o |
POURED—/
CONCRETE L 7 \
OR CONCRETE |
BLOCK WALL i
REQUIRED
(E |
e bt}

1/4"6-20x3/4"

CONCRETE ANCHORS:
(SEE SCHEDULE)

Cont.

Moax. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

BUILD OUT INSTALLATION

SECTION 3

SCALE : 3/8" =

7"

PRODUCT REVISED
as complying with the Florida
Buidiag Code

Accepivnce No O7-0)]). 02
Expiration Date © ol 2

Division

F.B.C.(H.V.H.2.)/MIAMI~DADE COUNTY

/TiLIECO e \

TILLIT TESTING & ENGINEER!NG COMPANY
6355 N, 36th, St, Sta. X

Phone : (Jo.sjan-—:s.m e (Jos)an-;s:r
EB~-D00E719

WALTER A. TILLIT Jr. P, E

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL| ~ DRAWN BY
EASTERN METAL SUPPLY, INC 1120408
4268 WESTROADS DRIVE DATI
WEST PALM BEACH, FL 33407
PH: (561)~533~6061 FAX: (561)-588-4780 06—290
REY, Mo DESCRIPTION DATE_ | Rev. Mo DESCRITION PATE DRAWING No
- R Lo - — SHEET 3 OF 15

FLORIDA Lic. # 44167
R




CONCRETE ANCHORS

(SEE SCHEDULE) \

EQ.

m
[~

POURED CONCRETE

REQUIRED
——

T
[
| {
T ]
| ! |
| ‘ ! 1
| : .
|
| t 5 ! I )
| 4 | & | 5
' . . 7ﬁ£x3{i;2" | ' l % S EDULE FOR . &
@ W WING N —() EE SCHEDU z
b 3 @ 12" ocC | ! l ) ’I Min. SEPARATION I
| I - ) | | 3 T0 GLASS [ !
| : é | I : : § l [ B
8 | z
Ar 8 N i A,
| T | E— A | [ o 2 I t
P g | | | | <
1 | 2 | [ | % 1/4"#-20x1" 8.8 ! | &
I ; ~ o I I
SEE SCHEDULE FOR Y SEE SCHEDULE FOR . "] G
Min. SEPARATION | I ® " Min. SEPARATION | | | g k;}/i}awﬁu;/g 7??‘/32 c [ 5
TO G6LASS ! | Y TO GLASS | | o .C. | | W
B g | | 2 | g
, | | - ae-2063/8" | N . g
7/8'%3/32" & //479-20x | | | X I £
| | ere 3 oS W [ SO | L 5
- EVERY STUD
l @ I Ry ST I WING NUT I | '.._@ §
| [ ® 12" 0.C. | I I
Cont.
, f | } I POURED | |
; ! | | | CONCRETE
| 1.125 , OR CONCRETE | [
| o= | | I BLOCK WALL g b
///I 5 7> REQUIRED iy : {
POURED CONCRETE : J;" " .
REQUIRED b POURED) CONCRETE I
CONCRETE_ANCHORS / E D. 2= L
(SEE SCHEDULE) A CONCRETE ANCHORS e
(SEE SCHEDULE) b E. D CONCRETE ANCHORS
(SEE SCHEDULE)

CEILING & FLOOR MOUNTING
INSTALLATION ~ SECTION 4

SCALE : 3/8" = 1"

E D. = EDGE DISTANCE
'SEE_SCHEDULE ON
HEETS 10 & 11 OF 15)

NOTE FOR COMBINATION OF SECTIONS:

CONCRETE ANCHORS
(SEE SCHEDULE)

POLRED CONCRETE |

REQUIRED —\

|AL TERNATE
LEG LOCATION

1/4"8-20x3/4"
BoLTs w/ |

MOUNT,
IN LATION ~ SECTION 5

SCALE : 3/8" = {"

CONCRETE ANCHORS
(SEE SCHEDULE)\ N

POURED )
CONCRETE W
REQUIRED

EXISTING /

GLASS |

500"
250"
Max.

—]

SCALE : 3/8" =

PRODUCT REVISED

&s complying with the Florida
Buiding Cede

Aceeptance No ©7—0/)). 0 T
Espiration Date o ol
' /

F.B.C.(H.V.H.Z.)/MIAMI~DADE COUNTY

WALL/FLOOR /CEILING MOUNTING SECTIONS CAN BE 0.050" PERFORATED BERTHA ALUMINUM STORM PANEL|  DRAWN 8Y

COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

I -'T—'_\ EASTERN METAL SUPPLY, INC ”ﬁ%‘”
/ IL E COine WE;?s;L%ESg-Eﬁ%AgSFfRQSE;O?

TILLIT TESTING a: ENGINEERING COMPANY PH: (561)~533-6061 FAX: (561)-588~4780 06—290
Jpp—— f-’—t) 6355 AW, 38, S, VIRGINIA BARDENS, Fl. 33188 DRAWING No
S g S ) . Phane : (:aa}né_;% sf;x ! (305)871~1531 ™ T o —
nTg apns WALTER A, TILLIT Jr. P, E 7 oD 03-143 1720708 4 - -
AUG ¢ 3 2007 FLORIDA Lic. § 44167 z o p ) p SHEET 4 OF 15




CALK—IN OR ELCO male/female PANELMATE
OR ELCO mole/female PANELMATE PLUS
/61/4"#-20 SIDEWALK BOLT OR @
W/1/4"8-20 TRUSSHEAD BOLT +
(SEE SCHEDULE FOR SPACING)

+

CALK—~IN OR ELCO mals/female PANELMATE
OR ELCO male/female PANELMATE PLUS

@ 1/4'0-20 SIDEWALK BOLT OR @
W/1/4'8-20 TRUSSHEAD BOLT + +

(SEE SCHEDULE FOR SPACING)

POURED L
CONCRETE
REQUIRED
ANNANN

|
|

-

7/8"dx3/32"
/ WING NUTS @ 12" O.C.

POURED

CONCRETE
REQUIRED \

_’ SEE SCHEDULE FOR

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

T
|
|
!
|
|
|
|
-~ |
o |
k5 |
& |
Y I
SEE SCHEDULE FOR 3 |
Min, SEPARATION 3 ‘
0 GLASS
T & Min. SEPARATION |
| A ; TO GLASS |
Vv a | A i
| [ N
1/4"8-20x1" 5.5. M.S. ' i 3 l |
W/ 7/8ex3/32" g | I
WING NUT @ 12* o.C. } | & I | |
o
[ f z | ([
g | I [
! | I v 7/8"ex3/32" t ]
7 Lo ° EmeT—
| | 4
® 12" 0.C. I |
POURED / I | , |
o | } & ..
CONCRETE . | oo
REouReD T o | | CONGRETE | o
ud | ! OR CONCRETE i L
t BLOCK WALL |
| REQUIRED 7
"—E——_—; N — | |
7 ' 7 875" |
[E=5 ’ CONCRETE ANCHORS )

CONCRETE ANCHORS
(SEE SCHEDULE)

Cont.

WALL MOUNTING INSTALLATION
SECTION 7

SCALE : 3/8"

= "

(SEE SCHEDULE)

Cont.

WALL MOUNTING INSTA ION

SECTION 8

SCALE : 3/8% = 1"

CONCRETE ANCHORS
(SEE SCHEDULE)

POURED

CONCRETE i)
REQUIRED \ \I“ £0. |1 £0.~
NINNNONY

\ E D.
.

|

|

|

l

|

LSEE SCHEDULE FOR
Min. SEPARATION —]
TO GLASS |

A

/Y
¥

7/8'0x3/32" |

WING NUT &
EVERY STUD 1
@ 12" 0.C.

|
|
|
| |
|
|
|

| C'
ont, [

ALTERNATE LEG

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

LOCATION N
|/ L

TV A

I POURED
| | CONCRETE
REQUIRED

CONCRETE ANCHORS

(SEE SCHEDULE)

CLILING & FLOOR MOUNTING

INSTALLATION SECTION 9

SCALE : 3/8" = 1”

PRODUCT REVISED

EDGE OF

1" — SLAB JF
I APPLICABLE
—

as complying with the Florida

Briding Code
Acteptance No O

Division

E D. = EDGE DISTANCE
(SEE_SCHEDULE ON F.B.C.(H.V.H.Z.) /MIAMI~DADE COUNTY
SHEETS 10 & 11 OF 15)
+ +
SIDE  WALK BOLTS ARE 3/4°0x3 /(32 THICK 0.050" PERFORATED BERTHA ALUMINUM STORM PANEL|  DRAWN BY
. HEAD MCH/T/Z_E SCREW W/LIE'NG ) LA,
NOTE FOR COMBINATION OF SECTIONS: AS PER NOTES A2 & B.2 (SHEET 1
EASTERN METAL SUPPLY, INC 11/20/06
WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE ’TEIA{gS J%Ngos%,s? ARE /2 By I/B”TH/CK "_ E c o 4258 WESTROADS DRIVE DATE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. e S (SHEE, 1) INC. WEST PALM BEACH, FL 33407
TILLIT TESTING & ENGINEERING ? COMPANY. PH: (561)~533-6061 FAX: (561)-588-4780 06-290
——— 6355 N.W. J6th, VIRGINIA 331
/:‘::‘-\——Q‘m;ﬁf Ty Phone : (.105)'471_51_52% ;;;; (305)571 1531 o T — o DRAWING No
WALTER A, TILLT Jr. P. E. , oD 05-143__ YizZo/d 3 - z
AUG ¢ 3 2007 FLORIDA Lic. fl ‘44167 P - = y = — SHEET 5 oF 15




1 1/4" M.
PENETRATION TO
CONCRETE BLOCK

& 2" TO CONCRETE . -

\ EXISTING

BRICK VEENER

Max.

250"

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

jg ;

1/4"8x8" ELCO male
PANELMATE TVAS ANCHORS
(SEE SCHEDULE FOR SFACING).

I'EXISTING
STEEL ANGLE LINTEL
AS APPLICABLE

Il
L
!
I

/\/ SEE SCHEDULE FOR

Min. SEPARATION
TO GLASS

EXISTING
BRICK SILL |

POURED CONCRETE
OR CONCRETE BLOCK

-1 1/4" MIN.

PENETRATION 70 ..
" CONCRETE BLOCK .
& 2" TO CONCRETE

R

I

|

!

!

I

o
)
.

I

l

I

|

|

[

l

WALL REQUIRED

BOLTS W/ 7/8"ex3/32"
WING NUT @ 12* O.C.

1/4"9-20x3/4" |

EXISTING
APPLICABLE

Wz &
W2

|
|

|

|

FLASHING AS :
oo |
|

|

|

|

a4

L" Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

BUILD OUT INSTALLATION
SECTION 10

SCALE : 3/8" = 1"

!
2 ] 3 1/2" . ot
Max. Max.
EXISTING
BRICK
VEENER
1/4"8x8" ELCO male
PANELMATE TVAS ANCHORS
(SEE SCHEDULE FOR SPACING).
E. D. = EDGE DISTANCE

(SEE SCHEDULE ON
SHEETS 10 & 11 OF 15)

NOTE FOR COMBINATION OF SECTIONS:
WALL MOUNTING SECTIONS CAN BE

COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

CONCRETE ANCHORS

CONCRETE ANCHORS

(SEE SCHEDULE)X é
y N
—E= 2 7 K
N3
!
I
POURED 1 !
CONCRETE | POURED
REQUIRED Cont. CONCRETE
J REQUIRED

EXIS 77NC:‘—/’1

GLASS I

|
SEE SCHEDULE FOR || _
Min. SEPARATION
TO GLASS l

(SEE SCHEDULE)\

Q
E L2 g o
B B 3
|
I |
u !

©

GLASS

<=

S A

1/4"0-20x1" 5.5. M.S. |
W/ 7/8'x3/32" |
WING NUT '® 127 0.C.

/ |
POURED

CONCRETE ]
OR CONCRETE | |
BLOCK WALL & |
REQUIRED u [

-

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

EXISTING '—j

SEE SCHEDULE FOR
Min. SEPARATION [~
TO GLASS I

——

1
|
|
!
l
|
|
l
I
!
f
|
{

/\ 1

1/4"0-20x1" 5.5, M.S.
W/ 7/8°0x3/32"
WING NUT © 12" 0.C.

|
[
]

l
|
I
|
: DETAIL
|
l
I

2%

2/7

CONCRETE ANCHORS -7

(SEE SCHEDULE)

Cont,

SECTION 11A
WA

L=
CONCRETE ANCHORS _f~
(SEE SCHEDULE)

SECTION 118

UNTING INSTALLAT,
SECTIONS 11

SCALE : 3/8" = 1"

INSTALLATIONS VALID Fi

WITH INTERIORLY REMOVABLE P,

AUG 0 3 2007

™

POURED y

CONCRETE
OR CONCRETE
BLOCK WALL
REQUIRED

o

l
T
P
[
P
;o
|
P
[
|
[
[
| !
i
I |
P
| I
]
| f
[
[
[ f
[ |
[
1 |

~

i Cont.

1" Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

Cont.
AT REAR W,

375" \
INTERIORLY REMOVABLE PANEL (1)W/

SIDEWALK BOLTS (SEE DETAIL 2)

THRU 5/878

PRODUCT REVISED
85 complying with the Floridn

Buiding Code

Acceptance No O /-

Broduct Consral

CONNECTED TO
HOLES AT © 6" 0.C & FASTENED

7/8"¢x3/32" WING NUT
© EVERY SIDEWALK BOLT.

F.B.C.(H.V.H.Z.)/MIAMI—-DADE COUNTY

/TiLlEcome \

TILLIT TESTING & ENGINEERING COMPANY
8355 NW. J6th, St, Ste. 305, VIRGINA GARDENS, F. 33185

Phane : (305)871-1530 . Fax ! (305)871-1531
ER-Q006719

WALTER A. TILLIT Jr. P, E

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL|  DRAWN BY
EASTERN METAL SUPPLY, INC 11/20/06
4268 WESTROADS DRIVE DATE
WEST PALM BEACH, FL 33407
PH; (561)-533-6061 FAX: (561)~588-4780 06-290
REV, No DESCRIPTION ATE | RV Mo DESCRIPTION TATE DRAWING No
1 OLD 03— 143 1/20/04 K] - p

FLORIDA Lie. f 44167

- - 4

SHEET 6 OF 15




CONCRETE ANCHORS E.
(SEE SCHEDULE )\

POURED CONCRETE

REQUIRED —\
N

|
|
|
|
|

SEE SCHEDULE FOR
Min. SEPARATION
7O GLASS

£Q. T

——

-1

7/8"9x3/32"

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

CONCRETE ANCHORS
(SEE SCHEDULE )\

POURED CONCRETE

REQUIRED \\

|
|
|
|

!
I
|
|
|
!
|
ISEE SCHEDULE FOR|

— " Min. SEPARATION |-

TO GLASS |

|

Mox. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

I
WING NUT @ |
- EVERY STUD |
b @ 12" ocC. [
@— 7/8"ax3/32"
Cont, b I WING NUT @
_I_l [ | -~ EVERY STUD
o | | | @ 12" 0.C
R | (@—
i | Y Cont. _I_[
/) 7/ Zi EDGE OF )
POURED CONCRETE [y ] SLAB IF N
REQUIRED i APPLICABLE o
(W]
coNCRETE ancrors | £ b, Ko/ ANV EDGE OF
(SEE SCHEDULE ) A POURED CONCRETE L gn ] - SLAR IF
REQUIRED i APPLICABLE
CONCRETE ANCHORS L
(SEE SCHEDULE ) E D.
SECTION 124 INTERIORLY REMOVABLE PANEL(DW/
._Q._L__Z_ SEC TION _12B SIDEWALK BOLTS (SEE DETAIL 2)
CONNECTED 1O (1) THRU 5/8"@
CEILING & FLOOR MOUNTING INSTALLATIONS  Hoi£s 47G) e & ot & Fastened
= = AT REAR W/ 7/8"0x3/32" WING NUT
W © 'EVERY SIDEWALK BOLT.
SCALE : 3/8" = 1"
.1875* 1/4"-20x1" S.5. SIDEWALK BOLTS,
r-—l W,/3/4" SLOTIED HEAD, FIXED
INTERIORLY REMOVABLE PANEL
B 1 THRU KEY HOLE (12) © 6° 0.C.
X, w . ),
T o2 // 1/4"-20 NUT AT REAR, nLE

750" —

-— 050" 1/4" HOLE @ §* o.C.

SIPEWALK BOLTS © REMOVABLE PANEL

SCALE: 1" = 1"

INSTALLATIONS VALID FOR PANELS

PANEL

E. D. = EDGE DISTANCE
(SEE SCHEDULE ON
SHEET 10 & 11 OF 15)

CONCRETE ANCHORS

(SEE SCHEDULE ) E D
POURED
CONCRETE

REQUIRED ‘\

AN\

|
|
|
|

| SEE SCHEDULE FOR
- Min, SEPARAT/ON =

|
|
I
I
I
!

0 GLASS

CONGRETE ANCHORS

(SEE SCHEDULE )
POURED
CONCRETE "
REQUIRED \

SEE SCHEDULE FOR
Min. SEPARATION —-

.
N

TO GLASS

|
|
|
|
|
|
|
|
|
|
I

I
I
I
!
|
[
I
|
I

7/8"0x3/32"

WING NUT @
EVERY STUR
@ 12" 0.C.

Moax. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

NOTE FOR COMBINATION QF SECTIONS:
FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

WITH INTERIORLY REMOVABLE PANELS I; )

.,

)

<

1
{
I
|
I
I
I
I
!
!
{
|
I
I
|
|
|
!
I
|
I
|
I
I
I
[
I
!
I
[
|
|
I
I
I

Mox. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

Division

[
f
f @
| . [
| 7/8"8x3/32
. I WING NUT © I
{0— EVERY. STUD \ |
Cont. J_[ I @ 12° 0. | i
ALTERNATE LEG | !
LocaTioN R !
'_[—[[‘-_- o _ _v-:_ ¥ T Cont. J_
% 2 EDGE OF |  ALTERNATE LEG %, [
[ g SLAB IF —(——LOCAHON N
I ' l | APPLICABL J:;__,D e _v:" ] n—n
POURED
CONCRETE  CONCRETE ANCHORS / /Jl Il/ QL /: v
REQUIRED (SEE SCHEDULE) £n. X (e
POURED CONCRETE ANCHORS -
Ll CONCRETE o
REQUIRED (SEE SCHEDULE ) i
SECTION 13A SECTION 13B  wrerorey revovasie raneL (D)
SIDEWALK BOLTS (SEE DETAL 2)
CONNECTED TO (17) THRU 5/8"8
C /} o) HOLES AT (1)) @ 8" O.C & FASTENED
AT REAR W/ 7/8"9x3/32" WING NUT
SECTIONS l 5 @ EVERY SIDEWALK BOLT.
SCALE : 3/8" = 1" PRODUCT REVISED
s complying with the Florida
Buiding Code
U ED JO,N LY Accepizuce No O /- 0 ” ol
Expirgtion Date_o 2ol

F.B.C.(H.V.H.Z.)/MIAMI—-DADE COUNTY

/TiLlECOm: \

TILLIT TESTING & ENGINEERING COMPANY
8355 NW. J6th, St, Ste. 305 GARDENS, 1. 33186
FPhane : (108)871-1530 . rax (.105)571 1531
EB-0006719

AUG 0 3 2007

WALTER A, TILLIT Jr. P. E.
FLORIDA Lic. # 44167
N ——

2 -

1/20/08 L

4

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL|  DRAWN BY
EASTERN METAL SUPPLY, INC 11/20/06
4268 WESTROADS DRIVE DATE
WEST PALM BEACH, FL 33407
PH: (561)-533-6061 FAX: (561)-588-~4780 06—-290
REV, No DESCRIPTION ate | REv. Mo OESCRIPTION AT DRAWING No
’ OLD 03-143 p

SHEET 7 OF 15




1/4” Mox. GAP

s

r7_/ 4" Mox. GAP
T

JANVANYAW AWAN

SECTION B—B

N

INTERIORLY REMOVABLE PANEL ()W/
SIDEWALK BOLTS (SEE DETAILS

2/7, 2/14) CONNECTED TO (13 THRU
5/8"8 HOLES AT () @ 6" 0.C &
FASTENED AT REAR W/7/8"x3/32"
WING NUT @ EVERY SIDEWALK BOLT.

SCALE : 1/8" = 1*
@_ 11B/6, _’118/6.
(WHOLE) (WHoLE) ) 12,138/7 12,138/7
BUT NOTCHED 1/4"~20x1" 8.8,
EA CORNER ® s’//DEWAL; BOLTS.
ggg% AS T SEE DETAILS 2,7, /“@
] ‘ , 2/15. R (WHOLE)
S RISk
] 13 N S RIRRIOH 0 O R IO
]! k j
—‘gi——ﬁ“—-——--—{—é -@é ®)
e @ or(9)0R
11B/8, _’ 11B/6,
12,13B/7 12,138/7
3"t CONCRETE ANCHORS (SEE SCHEDULE) 3"
Max. Max.
1 Min. 1 Min.

INTERIORLY REMOVABLE STORM PANEL

PARTIAL ELE

SCALE ; 1/8" = 1

VATION Y

PRODUCT REVISED

83 complying with the i
Buiding Code Florida

Aceeptance No_© 7-0/]/. o [
Expirption Date O 35, 2o/

Miawi 1
Bivision

dact Contrel

oot 7
ALE

F.B.C.(H.V.H.Z.)/MIAMI—DADE COUNTY

/TiLlEcOm: \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. J8th, St, Sis. 305, VIRGINIA GARDENS, Fl. 33188
Phone : (J05J871-1530 . Fax : (JOB)E71~1531
EB--00067189
WALTER A. TILLIT Jr. P. E

FLORIDA Lic. # 44187

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL|  DRAWN BY
EASTERN METAL SUPPLY, INC 11/20/06
4268 WESTROADS DRIVE DATE
WEST PALM BEACH, FL 33407
PH: (561)~533~6061 FAX: (561)-588-4780 06—-290
REV, Mo DESCHPTION bare | Rev. Mo DESCRIPTION ATE DRAWING No
: e M = | SsHEET & OF 15




POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

CONCRETE ANCHORS
/_ @ 12" o.cC

CUT PANEL

2'%4"x1,/8"
3105~H14
OR 6063~T6
ALLOY Cont.
Alum. ANGLE

CASE A (Plan)

SCALE: 1/4" = 1"

|
[

VARIES 5"

" Wax 1

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

1/4 "¢ BoLt 4"%4"%.072"

@ 24* 0.C 3105~H14

W/UACKNUT OR 6063~T6
ALLOY Cont.

CQSE B ‘Plan’ Alum, ANGLE

SCALE: 1/4" = 1"

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

CONCRETE ANCHORS

2'%2"%.055"

TO 2'x5°%.055" Cont.
Alum. ANGLE OR .080"
3105—H154 SHEET
METAL Alum. BENT PLATE

ALTERNATE LEG LOCATION

CASE C (Plan)

SCALE: 1/4" = 1”

2"%3".093" 3105 H-14 O
6063~T6 ALLOY Cont. Alum.
ANGLE WITH ANCHORS

@ 12" o.C.

HALF FANEL

NG

CASE D (Plan)

”

SCALE: 1/4" = 1

END CLOSURES DETAILS

> 1/4" 6AP

MAXIMUM DESIGN PRESSURE RATING "W (p.s.f.) AND

CORRESPONDING MAXIMUM PANEL LENGTH ’Z " SCHEDULE

MAXIMUM DESIGN |  Max. PANEL LENGTH | Lo cononno ';ZZ%’,?;L; f,‘j
PRES;U(/‘?fS'/STING (SEELsgg'r)/ON s TO GLASS ANY ocfgﬁ%mm
+65.0, ~72.0 | 9'-0" OR LESS 3 1/2" 8
+63.5, ~63.5 9'-0" OR LESS 3 1/8" 3
+65.0, =65.0 | 9'-0" OR LESS 3 3/4" 4
+65.0, -72.0 | 9'-0" OR LESS 3 1/4" 5
+63.5, ~83.5 9'~0" OR LESS 3 1/2" 1, 2,6 7, 11
+65.0, —65.0 9'-0" OR LESS 3 172" 9, 12, 13
+63.5, ~635 | 9'-0" OR LESS 3 3/4" 10

POURED CONCRETE
OR CONCO%%E_D BLOCK
WALL RE!

X = BUILD OUT DISTANCE

1

|

1.5%

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

o

CASE E (Plan)

SCALE: 1/4” = 1”

PRODUCT REVISED
as complying with the Florida

Buiding Code

Agcepinace No 07-0 .oz
Expiration Date_© o7
By %M/
Mismi Duds uet Conire]

Division

F.B.C.(H.V.H.Z.)/MIAMI—-DADE COUNTY

/TiLlECOme. \

TILLIT TESTING d‘ ENGINEERING COMPANYh

8355 N.W. Jach 5,
Phone

30,
,fan-vm Fax : (Jas)an 1531
EB-0008
WALTER A, TILLIT Jr. P,

ENS, Fl. 33188

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL|  DRAWN BY
EASTERN METAL SUPPLY, INC 11/20/08
4268 WESTROADS DRIVE DATE
WEST PALM BEACH, FL 33407
PH: (561)-533~6061 FAX: (561)-588~4780 06-290
719 REV, Mo DESCRPTION wrE | Rav. % oESCRITION DATE DRAWING No
pooe o o - —— SHEET g OF 15

, E. !

FLORIDA Lic. # 44167 2 - - p’ p -
A




ESSURE_RATING "W” (p.
SPACING SCHEDULE FOR INSTALLATIONS IN CONCRETE AND CONCRETE BLOCK STRUCTURES

L,

ND C

MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2"%

APPLICABLE TO

MAXiyLM SECTIONS # & | MAXIMUM PANEL
DESIGN LOAD REGULAR TAPCONS CRETE-FLEX 554 ZAMAC NAILIN CALK=IN CF TAP-GRIP PANELMATES PANELMATE PLUS 410 8.8, TAPCON ANY COMBINATION LENGTH L™ (ft.) E. D. = EDGE DISTANCE
W (pat) 7O CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE| TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE| TO MASONRY OF THEM
8" N/A N/A N/A 4" N/A 8" N/A 5" N/A J 172" N/A N/A N/A N/A N/A 1 (TOP)
12" 8" N/A N/A 1" 10" 12" 9" 12* 8" 17* 1" 12" 7 N/A N/A 1 (BOTTOM)
12" N/A N/A N/A 11" N/A 12" N/A 12" N/A 17" N/A N/A N/A N/A N/A 2 (TOP)
12" 8" N/A N/A 17" 10" 12" 9" 12" g" 7" 1" 12" 7" N/A N/A 2 (BOTTOM)
12" N/A N/A N/A 11" N/A 12" N/A 12" N/A 11" N/A N/A N/A N/A N/A 3 (TOP)
12" 8" N/A N/ 12" 10" 12" 9" 12" 8" " " 12" 7" N/A N/A J (BOTTOM)
g” N/A 12" N/A 5" N/A 7" N/A 8" N/A 1" N/A 11" N/A 10" N/A 4 (TOP/BOTTOM)
8" N/A 1" N/A 4" N/A 7" N/A 7" N/A 10" N/A 10" N/A 9" N/A 5 (TOP/BOTTOM)
12" N/A 12" N/A N/A N/A 12" N/A N/A N/A 12* N/A 12" N/A 12* N/A & (TOP)
+63.5, -63.5 12" 8" 12* 12" N/A N/A 12* 9" N/A N/A 12* 11" 12" 7" 12" 6" 6 (BOTTOM) 9'-0" OR LESS
N/A N/A N/A N/A N/A N/A 12" N/A N/A N/A 12* N/A 12" N/A N/A N/A 7 (TOP)
’2:; 7 7/214 12“ ’211 N/A N/A 72u 9" N/A N/A 7211 ’0” ’211 7n 7211 6“ 7 (BOH-OM)
10" N/A 12" N/A N/A N/A g" N/A N/A N/A 1 N/A 12" N/A 1" N/A 9 (TOF) -
9" N/A 12" N/A N/A N/A 7" N/A N/A N/A 1" N/A e N/A 10" N/A 9 (BOTTOM)
N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A 12" 1" N/A N/A N/A N/A 10 (TOP)
N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A 12* 6" N/A N/A N/A N/A 10 (BOTTOM)
12" N/A 12" N/A N/A N/A 12" N/A N/A N/A 12* N/A 12" N/A 12" N/A 11 (TOP)
12" 8" 12" 12" N/A N/A 12" 9" N/A N/A 12" 11" 12" 7" 12" 6" 11A (BOTTOM)
12" 8" 12" 12" N/A N/A 12" 12" N/A N/A 12* 11" 12" 9" 12" 10" 118 (BOTTOM)
10" N/A 12" N/A N/A N/A 12" N/A N/A N/A 12" N/A 12* N/A 1" N/A 12 (TOP)
9" N/A 12" N/A N/A N/A 4 172" N/A N/A N/A 1m* N/A 11" N/A 10" N/A 124 (BOTTOM)
3" N/A 3 1/2" N/A N/A N/A 2 12" N/A N/A N/A J" N/A 3" N/A 3" N/A 128 (BOTTOM)
10" N/A 12" N/A N/A N/A 9 172" N/A N/A N/A 11" N/A 12" N/A 1" N/A 13 (TOF)
g” N/A 12" N/A N/A N/A 7 1/2" N/A N/A N/A 1 N/A 11 N/A 10" N/A 134 (BOTTOM)
3" N/A 3 1/2" N/A ‘N/A N/A 2 1/2° N/A N/A N/A 3" N/A 3" N/A 3" N/A 138 (BOTTOM)
PRODUCT REVISED
23 complying with the Flgri
Buiding Code rida
Eiccepfx;me Neo /-0 )]. o 7
Xpiration Date
}%Ol z
BY%M
Miamt Dade et €
L, RS st Con
Bivisipg frol
* MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE DISTANCE. FOR E. D, LESS THAN 3 1/2"
REDUCE ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE By THE FOLLOWING FACTORS.
(NOTE: Min. E. D. FOR CALK—IN ANCHORS IS 2 1/2") ANCHORS LEGEND
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED USING FACTOR SHALL NOT BE
LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND. Min.
FACTOR ANCHOR TYPE ANCHOR F.B.C.(H.V.H.Z.)/MIAMI~DADE COUNTY
ACTUAL E. D. REGULAR TAPCON, 410 S.S. TAPCON, CRETE-FLEX S54, . DRAWN BY
ZAMAC NAILING, PANELMATE OR PANELMATE PLUS. CALK=IN |CF TAP-GRIP REGULAR TAFCON, 410 S.S. TAPCON 20 0.050" PERFORATED BERTHA ALUMINUM STORM PANEL w
3 .86 .75 1.00
—Fl , ZAMAC NAILING, CF TAP-GRIP, .
27 7 s | PANELUATE OR FANELWTE PLUS > TiLlEco - EASTERN METAL SUPPLY, INC | 11/z0/0c
” 4268 WESTROADS DRIVE
2’ 50 - - CaLK—IN 25 I L E COinc. WEST PALM BEACH, FL 33407
TILLIT TESTING & ENGINEERING COMPANY PH: (561)-533-6061 FAX: (561)~588-4780 06-290
. e T 6355 N.W. J8th, St, Sta, 305, VIRGINIA GARDENS, FL. 33166
[ s AR "\ Phone : (305)&7;_355% 0 ;ax : (305)871~-1531 Py proorrem— T T prorrr™ T DRAWING No
Gpa v WALTER A. TRLIT Jr. P, E. 1 LD o3-143  J1/20704 3 - -
AUG ¢ 3 2007 FLORIDA Lic._f 44167 2 CENERAL —Joajoe] s = ——| SHEET 10 0OF 15




MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2"% APPLICABLE TO
MAXIMUM SECTIONS # & MAXIMUM PANEL
DESIGN LOAD REGULAR TAPCONS CRETE-FLEX 54 ZAMAC NAILIN CALK~IN CF TAP-GRIP PANELMATES PANELMATE PLUS 410 S.5. TAPCON ANY COMBINATION | LENGTH 1* (1)
¥ eat) o CONCRETE | 7O MASONRY | T0 CONCRETE | 7O MASONRY | TO CONCRETE | T0 MASONRY | T0 CONCRETE | 70 MASONRY | 7O CONCRETE| 70 MASONRY | 7O CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | T0 CONCRETE | 70 MASONRY OF THEM E. D. = EDGE DISTANCE
+65.0, -65.0} 9" N/A N/A N/A 5" N/A 7" N/A 7" N/A 5* N/A N/A N/A N/A N/A 4 (TOP/BOTTOM)
7 N/A 10* N/A N/A N/A 6" N/A N/A N/A 9" N/A 8 N/A 8 NA__ |5 (TOP/BOTTOMY o oo o Less
+65.0, =720  nsa N/A N/A N/A N/A N/A 12¢ N/A N/A N/A 12" N/A 12" N/A N/A N/A 8 (TOP)
12" 7" 12" 11" N/A N/A 12" 8" N/A N/A 12" 9" 12" 6* 12* 5 1/2° 8 (BOTTOM)
* MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE DISTANCE. FOR E. D. LESS THAN 3 1/2"%
REDUCE ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS.
(NOTE: Min. E. D. FOR CALK~IN ANCHORS IS 2 1/2°) ANCHORS LEGEND
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED USING FACTOR SHALL NOT BE
LESS THAN MINMUM SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND. i
ACTUAL £ B FACTOR ANCHOR TYPE %
- D REGULAR TAPCON, 410 S.S. TAPCON, CRETE—FLEX SS4, _ _ N
ZAMAC NAILING, PANELMATE OR PANELMATE PLUS. CALK=IN  |CF TAP-GRIF) REGULAR TAPCON, 410 S.S. TAPCON 3.0
J 86 75 .00 CRETE~FLEX SS4, ZAMAC NAILING, CF TAP—GRIP, 30"
2 1/2" .21 .50 .80 FANELMATE OR PANELMATE PLUS.
2" 50 - - CALK~IN 2.5 :;RODUFT REVISED
complying with the Flos,
Buiding Coge ida
::ccepmms Neo]- 0 ’N o0z
xpiration Dage
o3 20)2
Division
F.B.C.(H.V.H.2.} /MIAMI—DADE COUNTY
0.050" PERFORATED BERTHA ALUMINUM STORM FANEL|  PRAWN BY
EASTERN METAL SUPPLY, INC | 1z
|L E c o 4268 WESTROADS DRIVE
INC. WEST PALM BEACH, FL 33407
TILLIT TESTING & ENGINEERINGDECOMP::JN;’ PH; (561)-533~6061 FAX; (561)~588~4780 06—-290
6355 N.W. 36th. Sb, Ste. 308, VIRGINIA GARDENS, F1. 188
W—\D Phoné s (305)472_-8% 5 ;;;; : (305)8711531 e ——— T e _— DRAWING No
y WALTER A. TILUT Jr. P. E. ! O 03-)43 | Pi/20/04 S = it
AUG ¢ 3 2007 FLORIDA Lic. # 44167 2 = = 3 - —| SHEET 11 OF 15




L 1/4" @ LAG SCREWS L\ :
é 60 o . 1/4" 8 LAG SCREWS
. C. W1 1/2” Min. " .
. @ 6" 0. C. W/ 1 1/2" Min,
' THREADED PENETRATION
. TO EXISTING WOOD HEADER " THREADED PENETRATION
. ) TO EXISTING WOOD HEADER,
g _t&  R3 S
LI, 8 B
A 7 I i
RN
N l Cont. |
I : “ ] Cont.
D HEADE)
WOOD HEADER | '@ ,‘v?lf:qulREgA 4 | @
REQUIRED | | s
)
x [w)
I 2 SEE SCHEDULE FOR | ~d
SEE SCHEDULE FOR| o Y ty
| ¥, SEParanon” |- & i SEPARATION | &
10 GLASS I ,53 E
~
| S —h— pl S
Ly T [
i ) ALTERNATIVE 5 )
V = g
ALTERNATIVE 1 e 2
g \ g
~ Q
T 3 | :
[
P | :
I __@ é ’_l—‘_l [ T l §
| bl
[}
| 7/8" 8 x 3/32" q | ‘{:)
EViRY STUD @ l
7= e I X |
L . . L~
Cy
o Cont. \;/4'«:—29 ss.
Y » OLTS W,
LuT__ _ 1.{}25 ] 7/8'0 x 3/32"
N — "o g WING NUT
| 12" x 4" PLATE !
| \—@ Cont. REQUIRED ® 12" 0. ¢
2" x 4" PLATER T é/"s.%bzp VSJER";W,S/‘?. . 1/4" @ LAG SCREWS
REQUIRED 2 B . o _ K o6 0 Cc w11/
in, THREADED PENETRATION : .
1 o mpwpTH oF ALATE, A ; Min. THREADED PENETRATION
: ’ © MIDWIDTH OF PLATE.

ALTERNATIVE 2 ALTERNATIVE 6

A
v

S PRODUCT REVISED
Mﬂg ‘ L MQ! !N Z lmz le ZALLA Z IQI! gs ?:;P!pzing with the Fiorida
) uiGing Codl
SECT/OM A SCALE : 1/4" = 1 Accepizmzlgo o%-oll!-ol

SEE SCHEDULE FOR
—{ Min. SEPARATION |—
10 GLASS

£Q EQ

NOTE_FOR COMBINATION OF SECTIONS: Expiration Datc o T3
WALL MOUNTING SECTIONS CAN BE COMBINED B’" ¢ A
N ANY WAY TO SUIT ANY, INSTALLATION. INSTALLATION DE 0) ISTING WOOD BUILDING ik BB Comi
—— 1Vision
I—/
7
L (& cont NOTES: F.B.C.(HV.H.2.) /MIAMI-DADE COUNTY
. 1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +63.5, 0.050" PERFORATED BERTHA ALUMINUM STORM PANEL D'Mm\_f By
2* @670 C W 1 1/2" 2. FOR NEW .
. . WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN EASTERN MET AL SUPPLY INC 11/20/06
i AREADED _PENETRATION PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. l IL I EC 4268 wESTROADS D 0ATE
X ' O.ine. WEST PALM BEACH, FL 33407
" TILLIT TESTING % ENGINEERING COMFANY PH: (561)-533-6061  FAX: (561)-568-4780 06—290
6335 N.W. 36th, St, Sle. 305, VIRGINIA GARDENS, F. 33188
LTER IVE 3 o Fone : ﬁmfﬂé—b’_’%bé—;‘,g’ (oe)arr=1ast REV. Ho BESCRPTION DATE_| eV, Mo DESCRPTIGN ATz DRAWING No
et WALTER A. TILLIT Jr. P, E. : oD 03-143 __Yi720,04 3 - -
FLORIDA Lic. 44167 7 - - = ~ —— sHEET 12 OF 15




WOOD TRUSSES OR RAFTER WOOD TRUSSES OR RAFTER

24”0, ¢ REOURH ® 24" 0. C. REQUIRED
2 < <
£Q-8-£0 1 L 500" £0-E-EQ- 500 ———
]
T '
—~ i
~—1"x 4" x 1/8"
1" x 4" x 1/8" 40 x 3/4" % Min. (6063-16)
fe Min. (6063-T8) ) \/BUILDEX Alum. TUBE W/
Alum. TUBE W/ = TEK SCREWS ‘ (3) 5/16" 2 x 4"
(3) 5/16"¢ x 4" @ 6" 0. ¢ | LAG SCREWS T0
9 x 3/4"— LAG SCREWS TO EACH JOIST,
TI/V/BUILDEX EACH JOIST. | LOCATE SCREW
TEK SCREWS LOCATE SCREW | AT MIDWIDTH OF
@ 6" 0. C AT MIDWIDTH OF EXISTING WOOD
-1 EXISTING WOOD o , MEMBER (2" Min.
MEMBER (2* Min. 10 GLASS NOMINAL WIDTH)
SEE SCHEDULE FOR NOMINAL WIDTH) I W/ 2 7/2 Min.
—~ " Min. SEPARATION W/ 2" Min. THREADED
7O GLASS THREADED L PENETRATION.
—— . PENETRATION,
ALTERNAT, ALTERNATIVE 8
* VALID FOR Max. +65.0, —65.0 psf.
_I‘_ A,
I 1/88-2003/4" I
| 7/m a2 20 b5z O
WING NUT © |WinG NG [ 2" x 6"
EVERY, STUD 2" x 6" | | Wooo Deck
® 12" 0L WOOD DECK REQUIRED
_I— (@ REQUIRED | | (NO FiNIsH
(NO FINISH ALLOWED)
Cont. ALLOWED)
>
] o \\j ) \/
_-,'
1/4"¢ LAG SCREWS

Z,

1/4°0 LAG SCREWS
6 4" 0. W/ 1 1/2 Min,
THREADED PENETRATION,

ALTERNATIVE 8 «

& 4" oc. W/ 1 1/2 Min.
THREADED PENETRATION.

ALTERNATIVE 10

* VALID FOR Max. +65.0, —65.0 psf.
CEILING & FLOOR MOUNTING INSTALLATIONS
' SCALE : 1/4" = 1"
E £ SECT!

WALL/FLOOR /CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

NOTES:

A
1\

1/4"8 LAG SCREWS
@ 6" 0.C. W/ 1 1/2" Min.
THREADED PENETRATION

.___I.§ ‘g

1/ T0 EXIS77NG WOOD HEADER.
E ;

| woop HEADER
| REQUIRED

ISEE SCHEDULE
FOR Min.
SEPARATION
| 70 oLass

|

-

Cont.

®

I |

I
|
|
|

Cont,

2" x 4" PLATE]
REQUIRED

@

-1/4%-20 S.s.
BOLTS W/
7/8°8 x 3/32
WING NUT
@ 12" oc.

Max, PANEL LENGTH (SEE NOTES BELOW)

|
I
I
I
I
I
I
I
|
I
I
I
I
I
|

|
I

1
3,

ALTERNATIVE 11

* VALID FOR Max. +63.5,

79~

T
\_ 1/4"0 LAC SCREWS

®@ 6" 0C W/ 1 1/2" Min.
THREADED PENETRATION
AT MIDWIDTH OF PLATE.

~63.5 psf.

433" 0.0,

"
L\

70 9'~0" Mox. OR
PANELMATE @ 12"

.634" LONG BRASS
BUSHING w/ 1/4%6-20x2"

SS. SMS. @ 12" 0.C.

FOR SPANS UP TO 5'-9" AND
© 6" 0.C. FOR SPANS UP

1/4°¢~20 ELCO male/female
W,

1 7/8" Min. PENETRAﬂON
FOR SPAN UP TO 9'-0"

433" 0.0,
S.S. S.MS. @

A
L\

PANELMATE &

FO

I WOoO0D HEADER

I
|
I
|
|
I
I
I
|
|
I
|

.634" LONG BRASS

12" 0.C.

OR
12"

1 72/8" Min. PENETRATIO
SPAN UP TO 9'~0",

Et
= £Q.fQ e

2" x_4” PLATI

REQUIRED "

ALTERNATIVE 12 «

* VALID FOR Max. +63.5,

—63.5 psf.

WALL MOUNTING INSTALLATION

SCALE : 1/4" = 1"

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

, @ 8" 0.C. W/ 1 1/2" Min.
) THREADED PENETRATION
AT MIDWIDTH OF PLATE.

2" x 4" PLATI
REQUIRED b o

ALTERNATIVE 13

[
|
g |
9
& I
@ I
W
S L I s
lu WOOD HEADER N
REQUIRED “@ g | oo HE : @ ;
SEE SCHEDULE & S
| Bkt | g el | :
SEPARATION
| 7o' cLass - | SepamaToN [T | g
! 4 | I z
aQ [<)
' A _ I ) | 2
% ¥ ]
A g ! 3
! / | ¥ I v I g
-® $
I | I EECORE
| |yl | |
| 6 | 7/8"0x3/32" | [ |7/mren3saz”
| Cont WING NUT WING NOT @
LI : @ 12" o.C. Ih— _ | EVERY STUD ©
. | A
g
- J75° Q}‘
y A N i ! ~a_7tsI
'} \__ 1/4"0 LAG SCREWS 7] - &R Cont

1/4"8 LAG SCREWS
@ 8" 0.c W/ 1 1/2" Min.
THREADED PENETRATION
AT MIDWIDTH OF PLATE.

PRODUCT REVISED
as complymg with the Fiorida

Buiding C

Accepfmme Noo
Expiratien Date o

BUSHING W/ 1/4"0-20x2"

FOR SPANS UP TO 5'-8" AND
© 6" 0.C. FOR SPANS UP
70 9'-0" Mox. :
1/4'9~-20 ELCO male/female
W,

F.B.C.{HV.H.Z.) /MIAMI~DADE COUNTY

1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0, 0.050" PERFORATED BERTHA ALUMINUM STORM PANEL| ~ DRAWN BY
~72.0 psf AND PANEL'S LENGTHS UP TO 9'-0" EXCEPT AS NOTED. _
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN EASTERN METAL SUPPLY, INC 11/20/08
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. / |"_ IE (o o \ 4268 WESTROADS DRWE bate
INC. WEST PALM BEACH, FL 33407
TILLIT TESTING & ENGINEERING COMPANY PH: (561)-533-6061 FAX: (561)~588—4780 06-290
8355 NW. J6th, S‘l),a Jo3, VRG/N!R GARDENS, F1. 33188, DRAWING No
D Z"\'ﬁ_ T T Frane :D:E;é's’fb"bo%?g (3:5):",511 RV, Ko owmm = : ;;or:-m n:v;m DESCRIPTION DATE
AL A TILLIT Jr. P. E. ! — - i
AUG ¢ 8 2007 FLORIDA Lic. § 44167 z - - : - | SHEET 13 OF 15




Ak - . o
1 7/8" Min. 2 EXISTING
' PENéRAT/ON r Max.”| /" BRICK VEENER = 1/4"8x8" ELCO male
N IN PANELMATE TVAS ANCHORS A A,
) i 1
\\ \\\ \ @6 1/2" 0.C. AN T
L 4" x 8" (Min.) EXISTING . . 1/4' LAG SCREWS
£ WOOD BEAM REQUIRED, i ;/‘2'? 0 L'Z-G 57?/?/2 * Min @/s" 0. C. W/ 1 1/2" Min.
gfg%}’rfﬁé %%%UACY . THREADED PENETRATON THREADED PENETRATION
. TO EXISTING WOOD HEADER,
Bean e WO TO EXISTING WOOD HEADER.
BY REGISTERED ENGINEER g .
£ OR ARCHITECT PRIOR AL — 338 ] 8 2§
TO SHUTTER INSTALLATION. —/ — NE F N3 ]
A -} ‘ 1
i § . : [ ] i
B 3 \1 | 3
1/4"8 LAG SCREW '3 wooo// ) g8 (Il : |
@ 4" oc. W/ 1 1/2" Mi] NEF HEADER | Ny Cont. Cont,
THREADED PENETRATION | REQUIRED l | gont. T I |
| 4)Cont. T N > Y
\ EXISTING I | S l
| a6 aphlose | WOOD HEADER | g WOOD HEADER |
AS APPLICABLE -
20) e REQUIRED ¢ REQUIRED 2
| S I O FO g @ 3
SEE SCHEDULE FOR | g I | | 3 SEE_SCHEDULE | 2
Min. SEPARATION £ £ SEE SCHEDULE w _ in,
0 cass | @ ] 5 EF&? H’ggfn [ L FOR Min., | i SEPARATION |~ | K
A S SEPARATION ~—— g SEPARATION l < 10 GLASS ]
- - 2 I TO GLASS | S T0 GLASS | g i 4 J\A,_l___ "
[ it —
ALTERNATIVE 15 3 n NI : I :
3 |1 A ALl 3 i ! ; DETAL 2/ | =
& T N7 /\/ I " \ 2 EXISTING ¥ g
£ ty —4— \ §  oass '_ =) g
] g [ | ¢ O » | g
[nf 8
| 2 Il | & exsive—"| | 1/4%0-20 5.5.3 | H
a | & S | LTS W/ 1/46-20 S.S. 5
I . ~ | /| 778% x 3p52 } ors wy &
. 3] i 6A WING NUT V-7/8"8 x 3/32"
g !
Z///SJN)L(JT%H | T | 3 Cont] @120 C | WING NUT
EVERY STUD l ﬂ_® EX/STING l Q _-L|=Jr:| . 6 I @ 12”7 0. C.
@ 12" 0._¢. | 274" BRICK SILL | *® § QJ_ I A
woop———| 8 T ~
Cant, | pPLATE L | o = P L [ |
ALTERNATE LEG g ' ~
LOCATION , \ I ot : g )
FEL 6" | EXISTANG | ; . ol 375
: . ; 1/4"8 LAG SCREWS Y :
A . “‘ LCABE” | ) deo W i ‘N1 1ac screws
. PENETRATION RS "y 1 1/2" Min. THREADED : 6" 0. C. W/
2" _| | e Al PENETRATION @ MIDWIDTH | 1 1/2* Min. THREADED
L1 M. Y 2 OF PLATE. | PENETRATION ® MDWIDTH
. S | 4 M OF PLATE.
2nx 6 [ ] 2" x_ 4" PLAT
woop Deck 1/4°@ LAG SCREW : | /| REQUIRED - INTERIORLY REMOVABLE PANEL(T) W/
REQUIRED @ 4 1/2" oc. W/ 1 1/2" Min. o« ¥ ' SIDEWALK BOLTS (SEE DETAL 2)
(NO FINISH THREADED PENETRATION EXISTNG—" | ! ALTERNATIV. 74 CONNECTED 10 (1)) THRU 5/8"0
ALLOWED) 2" x 4" STUDS B) Cont. 4 £ é z * HOLES AT(1]) @ 6" O.C & FASTENED
ALTERNATIVE 15 @ 16" 0.C. Mox. REQ'D ' ©con AT REAR W/ 7/8"0x3/32° WING NUT

£XISTING Min. 1/2" PLYWOOD \—EX/SﬂNG @ EVERY SIDEWALK BOLT.

ALTERNATIVE 178 «

REQ'D (TYP) W/ FASTENNG  BRICK SILL ‘g .
1/470x8" ELCO male PANELWATE _| 1o em o ot/ oA i o /% 4
TVAS ANCHORS @ 3 1/2" O.C. TO . SECTION 2909 OF THE o wne
CEILING & FLOOR EXISTING PLYWOOD SOUTH FL. BUILDING CODE. Y2 NG WALL MOUNTING INSTALLATIONS
MOUNTING INSTALLATIONS x SECTIONS 17 * VALID FOR Mox. +63.5, ~63.5 psf.

SCALE : 1/4" = 1* SCALE : 1/4" = 1”
4 % VALID FOR Mox. +63.5, —63.5 psf.
NOTE FOR _COMBINATION OF SECTIONS: MQ:MMLAM
SCALE : 14" = 1 _MZHJALZERLQRLY_REMQ_K&ELE_EANEL_&@WCT REVISED
WALL /FLOOR/CEILING MOUNTING SECTIONS CAN BE 2s complying with the Florkia
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. Buiding Code
INSTALLATION DETAILS ON_EXISTING WOOD BUILDINGS Acceptance NoO/ - O/ 0 T
- — - — —— S———— - T Expiration Bate_ O o/
By,
Miami Dy foduct Control
\B.C.(H.V. B #sWMIAMI~DADE COUNTY
NOTES: F.B.C.(H.V.BZslMIAMI~DADE COUN
1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0, 0.050" PERFORATED BERTHA ALUMINUM STORM PANEL DRAWN BY
—65.0 psf AND PANEL'S LENGTHS UP TO 9'—0" EXCEPT AS NOTED.
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN U, Y, INC 11,/20,/06
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. ' ".lE C o \ EASTERN mgigé AD;SDRNIZPL ’ DATE
INC. WEST PALM BEACH, FL 33407
TILLIT TESTING & ENGINEERING COMPANY PH: (561)—533-6061 FAX: (561)—588~4780 06_ 290
8355 N.W. 36th, St, Ste, 05, VA?GINM GARDENS, F1. 33188 DRAWING No
- Phane ¢ (Jos)ﬂé_bt_sz% 5 6"%95 (305)871~1531 — m : ;;;;at m.' ™ T T
WALTER A TILLIT Jr. P, E. ! ot = -
FLORII_DrA Lic. # ;4157 2 - - 4 - - e SHEET 14 OF 15




1/4"¢ LAG SCREW —]
© 4" oc. W/T 1/2" MIN.
THREADED PENETRATION

=

-

SEE SCHEDULE

Min, |
SEPARATION

TO GLASS

-]

4" x 8" (Min.) EXISTING
WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY

OF EXISTING WOOD

BEAM TO BE CERTIFIED
BY REGISTERED ENGINEER
OR ARCHITECT PRIOR

TO SHUTTER INSTALLATION.

.@

7/8" & x 3/32"
WING NUT &
EVERY STUD
o 12*

0. cC

Max. PANEL LENGTH (SEE NOTES EELOW)

<

1/4'0 LAG SCREWS @ 4" o.e./

W/1 1/2" MIN. THREADED FENETRATION

ALTERNATIVE 18A
LEILING & FLOOR MOUNTING INSTALLATIONS
SECTIONS 18

b
_{ 1§

SCALE :

2" x 8"

t— WOOD DECK

REQUIRED

1/4'¢ LAG SCREWS & 2" o.c. /

w/1

1/4" = 1°

1/4°-20x1" §.5. SIDEWALK BOLTS,
W/3/4" SLOTTED HEAD, FIXED IO

W/1/4°-20 NUT

|

|

!

|

N

REAR,

PANEL

REMOVABLE

=

1/4"¢ LAG SCREW
4" 0.0, W/1 1/2" MIN. —
THREADED PENETRATION

~+ ALTERNATIVELY, TRACK @ MAY BE ATTACHED
TO HOLLOW CEILING AS PER DETAILS SHOWN
ON ALTERNATIVE 9A, SHEET 13 OF 15.

1/4"8 LAG SCREW —]
® 4" o.c. W/1 1/2" MIN.
THREADED PENETRATION

(+)

OF EXISTING WO0D

1/4"@ LAG SCREW
@ 4" a.c. W1 1/2" MIN.—]
THREADED PENETRATION

4" x 8" (Min) EXISTING
WOOD BEAM . REQUIRED.
STRUCTURAL ADEQUACY

BEAM TO BE CERTIFIED
BY REGISTERED ENGINEER
OR ARCHITECT PRIOR

TG SHUTTER INSTALLATION.

(+)

g 1 A 4
| : l l
>
' N Cont. I?.J l \ cont. %
| Q I % o
| 2 i S
SEE SCHEDULE S 9 SEE SCHEDULE N
| FOR Min.  __| | D 2 _/ | S gushve /) " FOR Min. | 8
SEPARATION Iy YISTING SEE_SCHEDULE z SEPARATION 0
70 GLASS | Iy e . FOR Min. _| | o) iy TO GLASS 4
© SEPARATION a S
i || z 10 GLASS l s A R VI | N
-1 DETAIL 2 g I % - i é
L] ~J 3
| S 1 | : RY0) x
e - '[——’\r—’-—- g
o f = N ;
I ¥ =0 ><' - pETALL 2
O~| | 2 | § O~ |
| d—7/8" o x 3/32" | A-7/8"a x 3/32" | A~7/8" 0 x 3/32° %
WING NUT @ WING NUT @ WING NUT & ¥
EVERY STUD EVERY STUD (0 EVERY STUD
| 6 12° 0. C Cont. @ 12" 0. C. Cont. N\ | @ 12" 0. C
9 l ALTERNATE ALTERNATE l
Cont H LEG LOCATIONTS
1, 1I25' 1.1
— T ] - S— ]
| \ | \
T o oex 000 ek 000 Dk
17—l REQUIRED REQUIRED 1 REQUIRED

L INTERIORLY REMOVABLE PANEL(D)W/
SIDEWALK BOLTS (SEE DETAL 2)

CONNECTED TO THRU 5/8°¢
HOLES AT @ 6" O.C & FASTENED
AT REAR W/ 7/8"#x3/32" WING NUT

@ EVERY SIDEWALK BOLT.

1/2" MIN. THREADED FENETRATION 1/4% LAG SCREWS @

NOTE _FOR COMBINATION OF SECTIONS:

FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

W/1 1/2" MIN. THREADED PENETRATION

4 1/2" o.c./

ALTERNATIVE 194

HOLES AT

INTERIORLY REMOVABLE PANEL @ w/
SIDEWALK BOLTS

CONN@TED 10
AT REAR W/ 7/8"#x3/32"

£E DETAL 2)
THRU 5/8"%
@ 6" O.C & FASTENED

WING NUT

@ EVERY SIDEWALK BOLT.

ALTERNATIVE 198

CEILING & FLOOR MOUNTING INSTALLATIONS
SECTIONS 19

S

SCALE : 1/4

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0,
—65.0 psf AND PANEL'S LENGTHS UP TO 9’-0"

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

AUG 0 2 2007

u

!
1

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

A\

J Z 1/40 LAG SCREWS @ 2° o.c.

W/1 1/2° MIN. THREADED PENETRATION

PRODYCT REVISED
85 complying with the Florida

Buiding Code

Acce,,)hw-r‘é@__z 07// o2

Expiration Durp ¢

By
Miiami Dade |
Division

Zolz

kaet Contrel

F.B.C.(H.V.H.Z.)/MIAMI-DADE COUNTY

/TiLlEcom: \

8355 K. Satn, St , VIRGINIA
Phane : (.mjan 1230 . s 1
EB--0006719
WALTER A. THLLIT Jr. P. E.
FLORIDA Lic, # 44187
MU,

TILLIT TESTING & ENGINEERING COMPANY

- - ] -

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL|  DRAWN BY
EASTERN METAL SUPFPLY, INC 11,/20/06
4268 WESTROADS DRIVE DATE
WEST PALM BEACH, FL 33407
PH: (561)-533-6061 FAX; (561)-588-4780 06-290
REY, Mo DESCRIPTION oa7E | RLV. e DESCRFTION TATE DRAWING No
! OLD 03~143 1/20/08 3 - -

SHEET 15 OF 15




